IMPORTANT NOTES

10 9 (8) ) 5 4 > (1) © — Wall Panels Type =  TYPE-R
f W T Thickness = 0.5 (STEEL)
| Color = FROST WHITE
BQZZEASHINC : Z — Panels are to be field cut to suit openings
| — | — 5 — Trims are provided in Zamil Steel standard lengths.
720]/45-(:@55 : | - l T T ; ] | l Trims quantities are provided to cover the whole

! | length of the trim using 50 mm end laps. Refer
1 to detail TRE-010 at the roof sheeting plan. If lap

length specified (50mm) is exceeded during erection
then shortage in length may result. If the lap length

S ﬂ D E W A L L B A C {K U P P A N E L S 7ﬂ={ E E —ﬂ_ I N G is reduced then leakage and appearance problems may

result.
L /A\ Y O U T G R || D — D ( AS SHOWM> Always cut any excess trim length at the end of

@
trim line.
LAY O U T @ GRID — A ( OPP.HAND)

Panel = TYPE—-R, Base Metal = STEEL, Thickness = 0.50mm., Color = FROST WHITE 5 — Girts are not designed to take wind load from
blockwork walls (not by Zamil Steel).

4 — For downspout locations refer to roof sheeting plan.

D
|

Civil Contractor must tie endwall columns to
blockwork(not by Zamil Steel) at locations shown
on the erection drawings using clips provided by

@ @ @ @ Zamil Steel and 12mm tie rods(by Civil Contractor).
7 —

SITE STORAGE INSTRUCUTIONS

S’QP_%SSH‘NG All products are dispatched from our factory in good

| ] condition. To maintain this condition, we recommend
that the bundles of sheets, purlins or channels are
stored 150mm clear of the ground, with a slope of

i

| o
|

COUNTER FLASHING

CORNER TRIM
03-0303
I

i |
]
CORNER TRIM
03-0303

& s 3 3 o = 1:25, to allow for water drainage. Cover the stack
~ 3 4 a2 —15( |3 3 " . .

e 3 3 T < NS 05-1504 < S T 8 3 3 with a waterproof cover, leaving the ends open to

s T & g g £ SO O . :

@ 2 < S S o o > S S & = allow for air circulation.

~ = ) o ~ < < & o ) > .

S 2 @ O <« ) ) < 0 D 3 S

~ © 0 O & Ny

Upon receipt, it is recommended that bundles of
- ‘ panels be checked. If any water is entrapped between
sheets, the sheets should be carefully dried, and

E N D W A L_ L. A C K U P P A N E L S H E E T | N G then re-stacked allowing for air circulation.
L A Y O U T G R a — 1 ( AS SIHOWN) [t is recommended that panels be installed as soon as

@ \ possible after delivery. Extended site storage is not
LAYOUT @ GRID — 10 (OPP.HAND) | recommended.

Zamil Steel accepts no responsibility for staining
FROST WHITE of Galvanized, Zincalume or Aluminium products,
or deterioration of Painted products due to
incorrect site storage.

16 PANEL RUNS W/STD LAP

Panel = TYPE—R, Base Metal = STEEL, Thickness = 0.50mm., Finish

8 ~ For fixing - sheeting on all purlin/girt end laps
and on nested purlins/girts, it is recommended
that a 4mm dia hole is pre—drilled before installing
the self-drilling screw. This is a must for stainless
steel screws.

WE Sampykkt pann
01 DEC 2008
50 Byggingafulitriinn [ Hainars: 5
20 GAP / SPACER TRIM 7
(03-0251)
FASCIA PANEL

e

f i INSIDE CORNER TRIM 03-0303
% $ W/ POP RIVET @ 600 0.C VERTICALLY
b , __A f\_lﬂ_/
‘ N

1
i o
(4)-M12x35 WsB ) Janaliny BACK-UP PANEL )
- . ﬂ/
. FASCIA BRACKET T %@/ Z 7 ﬂ/
OUTSIDE CORNER TRIM I A
W/ POP RIVET @ 600 O.C VERTICALLY th, WBHH, Horur tonsson //%509464929

SECTION TRHU CORNER

&

200C20 TOP _MEMBER CONNECTION

|
1

!

CAP FLASHING 200C20 TOP GIRT
20020 TOP GIRT (03-11486) » « CAP FLASHING (03-1486
OUTSIDE FOAM VCVS/_EET?E SCREW (Ws) : il W/ STITCH SCR(EW (WS) )CS—4.8><16/
CLOSURE N $3C48x20 3 i SS-4.8x20 @ PANEL MODULE
(01-0606) N e e @ PANEL MODULE BACK-UP PANEL
OUTSIDE FOAM CLOSURE 6 mm PLATE /] /_Z‘Vs/-?éLNz% SCREW (WS) 3 107.06.2008 ISSUED FOR CONSTRUCTION ASU | AVP | TMM
6 mm PLATE BACK~UP PANEL ' $SS-5.5x28 @ 300 0.C PURLIN
W/ M12x35 MSB \g /ys/_g'g'“;% SCREW (WS) GRT NSIDE FOAM CLOSURE R 2 [18.03.2008] RE-ISSUED FOR APPROVAL HKS | REN | TMM
I SS_5.5x28 ® 300 0.C N NSIDE FOA /ROOF PANEL |
| ‘ ' ; L \ . _ |
TNDWALL PANEL | INSIDE FOAM CLOSURE SIDEWALL——— "Ly . ' 1 [27.11.2007 RE-ISSUED FOR APPROVAL HKS | REN | RMR
T ; | -
1 COUNTER FLASHING . 0 [08.10.07| ISSUED FOR APPROVAL SAK | REM | RMR
! o / (03-1504) ~ ROOF PANEL 81-,;;0::% W/
GABLE ANGLE i w (A:)—M12x35 MSB = NO. | DATE DESCRIPTION DRN CHK DSN
(oe—ozoo/os—ozme | PURLIN | —
g/s/ 5F|>5<u\12c5 SCREW (WS) | ‘}— -
=d.2X
SS—5.5x28 e .
© FURLIN LOCATION T VALLEY GUTTER ..LJ__—L:-H I.I—n l_|—-|- i EN GH“\ E ER[NG
i
™

ZAMIL STEEL DEPARTMENT

‘ \_ — v
L RAFTER

————3

L EAVE STRUT ZS JOB NO. V/—-D568 BUILDING NO.: 01

( 200 C )

| | PROJECT NAME : SIBERIA HOUSE
T ENDWALL GIRT : (4)-M16X50 H.S.B. CUSTOMER :
?LF;IM%Lz(zs\g/Msa | T ENDWALL POST - Note 7 - HEDINN
el ALC ERECTION BOLTS 7O | L0 NOTE JOBSITE LOCATION : HAFNAFIRDI, ICELAND
\ A Sed awr AL FESLon ovTs 1O w
X M : .
\f BE MiZxds M DRAWING TITLE : DRAWING NO
PARAPET ENDWALL SECTION (FAE-020) PARAPET SIDEWALL SECTION (FAE-019) FASCIA BACKUP PANEL ELEVATIONS E13

CAD RUN DATE : 03-05-2008, AT : 17:33




